adl [ [

n

£

%\ Ve

<) Zael

=

i

Fluw

Z

- _
J
/) w
= s S | J
w 3! m e v % = b
= 3 3 .
, R [ B 2
3 R . %‘z 3
\ g 3 £ | % 8
W C o ) i ~
ﬂ ‘Av ~ - ST (1 r C 0 h »
il L R w . = X
3 g - o i : % x
AN

-3

w

sl

Y]

PRO

1w

| g

R | | I

—t=y)

te

Py | o

21T

(o

o
-

Couik,

W

(couk “’a;—aL_-Fy\_ #ﬁ

\wiEdacat
N
3" Ll

J=1

N = [
OT LW
AX XX

PS

U

as

\ +C

" (%
‘Du

.
"L

AL
gz

10 W,

+ 101 mt‘L\ ik x+

W, + Wy s QWU W =

£

7

N

%

\

w, + 30

—
- S

P (g 4 -
W, + 20w U, wuum“”x&xv"

<~ rll l
I

O1

N’

1
"77§ _rl '} i

11N

e &




4
| : X
& //
I.|Q~L o X\\Nn
2 G : S =
o149 o X =
, SEN 3 +m
8 D 8 .
$ F - 3 k
r—L “ } \I-I-V - q. - \ x u x4
A 0 so - i > < = . X4 lw- WT
\lm. 3 ¥ N 2 ; M.\I W _ - 2 WMFW
> =k R ] =B RL LEN<HEEE 9
- g _|ad 5] X -3 + R W
3 -/ w 3 [ - + =~ U_wﬂ ! S L#w
+ | = W 3 oI e - + 3 |- <
£ \ > Dol il Bl T 1ol | M a 0.
AT 5 m k) . 2 N S 8l | . 4
LY Rl IS § “m Jw } AVA A9/ pre .= al 4 9 : v
1 I : < I~ . wr N 3 + X =
o % x| Y y O + X € A %
w ™ = M«_ _— 0— n4-¢ Inﬁu* S l- M zu
-M” v = d - ﬂm t ‘ P m
.. ' — x ~
4 { ﬂ.- i < 4
. . - & : o x : = B o_X
o i 4 N - { x - ” 3
¥ o g5 g i > A I ARE AR
i i - ™M X
: by ; S | T~ Uw +
E . 1 'S S " : = ﬁ
L S5 - £ L S |- lo -1
x| | © a < ENLEilk + 3 ®) o
9 + 9 % X i 5 s
~ S W i u L] = X
X a
TS g’ =  ANEE R Mw
» == \ o d w a2 b g ,\V|, U-A
of ~ | B B3 2 g 3 = : N 3
=) < 13 : fl m by
\I \
> = Q @ 3 .Tm ] m—m
Q o = g
#




== Lrl_\rlhmj, el Ll kk\lﬂlrvw.r‘JHJH e e e -
X >
N N N )
3 ¥ s ST T C P
‘I—n ¥ (\ U ol u A—-— —— u m
> ) s FW# Ty T - v
o ol | \&/|" ¢ -
N <" 7\ . t +
(%)) =, 7
+ T \A % d SD
3 1% e} : ......._..l.v i
Hw 3 R 4 3 J..# m_
< - a/ (\V . .
FEREANEEEARE B L% 3L =
D = <4 ] e . fl
E 3 A Q . = ~— g
8| L i i R S 7 —
E ENTY = - -
Q = I :
uﬂﬁ o3 s 3 e ) fl
. + o O g 7 Nk
” ﬂ( r.... g 0 e M| ] Pesm i
] m 3 e 85 4 4 |9 T 1.BI3 .
-.r W = L\...M b ﬁ w AAU oo p) ™Y Q [ QMW o S
h u/\ w . \X_.V u _— i g 5 " 2
S EEE NN = T .
N o 2 N MW P e nfmm 3 B
' .4 + E .r T M e o b,
1 ﬁ ! ) ¥ p“m; m\Nv + Ia
!~ 3 aOIsuh - o > ~ —.m“ . - Y
= ™) ) X =2 14 %] | x| a2 / - 3 EiQ 4o
s 3 {[3 N o ” sl R S, adlme
UNCHEEANE NN 2 9 NN SIS
|+ { 0& | i) n :
..Wo - : T S a @w \—
Z 1 1 1 i ,
¥ F 3 < ( M& |
], - »
# & = 5
ﬁ |




[€x70] Gonsider e scothering dlaton for Ha petikial V(x)= a3
{R(9 = mf W azo

,{R(k)=2f”k_w TR \f—” i a <o

| For 2ackh sigw of a:

S=

(a.) Coleulala |
F(§)=S i‘—‘—fl(k.)z:-ikg+ f;c:e“"g

[Hink : close 4Re iltgrotion contour by adding cm infiuit arc n
R uﬂee}r[\aowat‘ haF of %m#&xvhu o K, and wse Cuuc&ﬂs
residue taorem Look i€ wp if you ! ned o rwmdxr]

(6) Selve o Marchunko 2qn
G2+ Flxrz) + [ dyKimy) Flgra)=0
Ao determine ¥ u;\\cno:n K@) Yzsx (wh K@E3=0 Hrx<z).
€) Show ok 8y +€us we. really moan Lime Ko, z)

Vo= 2 )

WE'LL ONLY DO a>0. (a<O in final assignmed )
(ne bound stafzs)

+00

@) Fle)= [ 22t

2 Qik-a
bl * )

Im(d)1

L4




Founwutj W.o. Ww\k we' |k dose 'l'ﬁv. uhﬂruv.m c,m'l:ou.r Bj a.o\a\Au;

am arc ak oo : (R_,oo)

=5 or

- We cAocose He awe 'bﬁ.atdoewt' cervd?abwtl'ba R Luta'mﬁ. erG,

] (o3 -ikg
R Ak amEEaE M—»m :
foxter M-{-ﬁ; c{,(»\&%b\a’w(ctvé“kccs

L | -ikE] E-Im(k)
| §>O : ’ l (k (0] qlm\ﬁ tRe  lower mﬁmﬁ.m (Imk-’-o@.

1 _ Pdke & ik ik
T F(g), 2 2ika =¥ :‘-; =
=€ [ | cT T TN 5‘—«1
| o] 133 o L)
| i RN '. = ="""'2NVW—€¢‘ :-5’._.—2-5
(Guschy) % kefa Rtge 2 kerla 2T
= , —ik |
E<o: [&F[—50  along Ra upper lnfinite arc.
, r R EmmEn —] | R
= F<§) 2: Ta e > =0 hecaue C, deeslt ,(
_ enclose Ay Poee,s

§ =—i'e—a ® \—\recw:wu - , S»0! ]
L( ) (E) ‘W\qu\ function | @(g)‘ GagLtabg=o)
- | | O} S<fd [ [

Lb).Pu.\"w\MarcMnk,OQq»ft _ A_ q

( |
1= K(=, ) - -- @(ec.+z)_e | + S d’j K(";}j) (._) @ ‘j*'z) i :, ‘5+z) ,‘

T =
lir_(" s K@"L)*om i K(’"z> =

Y#Z2 <O in j‘



(34-;)
(x-&-z) a K _Q
ex+22>0 : O= K(x,Z) a‘ 2 2 J ‘{‘j ("75)

and -2 >O/)
- Fecaflt—

: Try Kix,2)= o = cmst. h be a‘mm@,
. 0= 9/-%9:%(**2) I _Q/—-(uz)?/{)
= & = % .
Heace (9= & Bx+z) .

To b2 preise, we also sk K(x,2)=0 for x<z, kmu.)
( ( LK(x,z,) = @(‘x-!-z) @ (m-z)]

SN

(cakor funckion”
i 1[ ‘?'..'l?lj ”\’({ AC k‘dt g 1 o

(C) d Ot K('xz.) _zcl( @(2_‘»

29X \/
d 'x. = x = \/(x.
Fl'%;;@()Taﬁ() )
B@E9= 6@ :‘—x@(z) =3(x)



